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QUESTION 1

Exhibit: Refer to the exhibit. What are three traffic and interconnection requirements for the devices in the exhibit?
(Choose three.) 

A. The EtherNet/IP drive connections are in a high-voltage area and need protection from electromagnetic noise, so
shielded cable that is rated for 600 V is advised. 

B. EtherNet/IP devices such as the controller, drive, VoIP phone, and IP camera should be in the same VLAN. 

C. CIP traffic has the highest bandwidth requirement so it needs the highest QoS setting. 

D. EtherNet/IP drive traffic has high sensitivity to random drops, latency, and jitter. 

E. Real-time motion control and VoIP traffic can share the same VLAN with the proper QoS setting. 

F. IEEE1588 and PTP are important for ensuring real-time synchronization. 

Correct Answer: ADF 

 

QUESTION 2

Why is SSH preferred over Telnet as a method of accessing a network device to alter or view the configuration? 

A. Telnet encrypts only the login information, not the entire transmission. 
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B. SSH requires fewer network resources and no additional configuration. 

C. Telnet is more difficult to use and configure than SSH. 

D. SSH encrypts the login and session information. 

Correct Answer: D 

 

QUESTION 3

Which two commands can help you to determine what image is running on your industrial switch? (Choose two.) 

A. show version 

B. show spanning-tree 

C. show interface-switch 

D. show interfaces gigabitEthernet x/y switchport 

E. show license 

Correct Answer: AE 

 

QUESTION 4

A small manufacturing company has a Class C network address on the plant floor and needs to create five subnets,
each accommodating 25 endpoints. Which subnet mask needs to be configured? 

A. 255.255.240.0 

B. 255.255.255.128 

C. 255.255.255.192 

D. 255.255.255.224 

E. 255.255.255.240 

F. 255.255.255.248 

Correct Answer: D 

 

QUESTION 5

What is the most critical step to perform when you are using optical fiber connectors? 

A. Cover with dust caps when not in use. 

B. Immerse in alcohol prior to use. 
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C. Blow off and carefully wipe down with a tissue before and after each use. 

D. Lightly sand with cloth prior to mating. 

Correct Answer: A 
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